, %ﬁ ?/ @ * murtolukujen lisdys (oikea murto -osa) (virheellinen
murto -osa)

Nimi: Paivimaara: Pisteet:
3 7 3 3
Z 4+ = — 4+ =
5 5 8 4
3 1 4 7
4+ = -+ - =
4 9 72
3 3 4 6
6 7 9 8
4 5 7 6
9 3 6 9
3 7 3 1
8 9 4 6
3 6 2 6
49 7 4
3 3 7 7
4+ = -+ - =
9 7 8 5
3 4 4 1
T4+ = -+ - =
8 6 6 3
2 5 6 7
— 4+ = — 4+ - =
3 8 5 8
4 6 5 5
— 4+ — = 4+ - =
5 9 8 8
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’ w 5/ @ * murtolukujen lisdys (oikea murto -osa) (virheellinen
murto -0sa)

Nimi: Paivamaara: Pisteet: __
3 7 3 3 9 |
S+ =2 S22
5 5 8 4 8 8
3 1 31 4 7 57 1
-+ - =— -+ -=—=4—
4 9 36 7 2 1 14
3 3 13 4 6 43 7
2+2=2 e
6 7 14 9 8 3 36
4 5 19 1 7 6 11 5
4= L =0- o= =2
9 3 9 9 6 9 6 6
3 7 &3 11 3 1 11
Syl Sho=—

8 9 72 72 4 6 1

3 6 17 5 2 6 25 11
o= =12 S o
4 9 12 12 7 4 1 14
3 3 16 7 7 91 11
—+ == — —+—-=—=2—
9 7 21 8 5 0 40
3 4 25 4 1

e “+-=1

8 6 24 24 6 3

2 5 31 7 6 7 83 3
S4l= o i
38 24 24 58 40 40
4 6 22 7 5 5 5 1
- = e
5 9 15 15 8 &8 4 4
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